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Topic:- Child Development & Pedagogy (CDP)

1) A student is provided with a choice of 15 topics of his/her interest to complete an
assignment. This increases his/her learning engagement. / Th BT Cal m
R HH & T 39 /IT@! 3 & 15 ifus &8 &id 31 98 3P

SftRTH o # gfg Ha1 B

1. Intellectual /Eﬁm
2. Behavioural/ ogdglR

3. Emotional /HIdd
4. Social / ATHISIH

Correct Answer :-

« Intellectual /@W

2) ADHD children have difficulties in which of the following areas? /

rafafed § @ e & & tSivad) 9= &) Sfe=TE gl 22
1. All of the above/?qgaﬂﬁ‘l-ﬁ
2. Attention onIy/av_OW“[ T AT

3. Hyperactivity only / Had 3ffd Afbad

4, Impulse control onIy/W 31T g

Correct Answer :-

+ All of the above /quaﬂqﬂ-ﬁ

3) In an intelligence test a 9 years old boy is found to have mental age of 10 years , he belongs

to the IQ classification of . | TP g@ qdteor o TPh 9 I9 & m P! AFR®



39 10 94 UTE ST<l §, 98 & ST TTHRuT I el g1
1. Superior / 9§ (UIRWR)

2. Average / 3d

3. Genius / IfTHTRITSN (STifFa)

4. Slow learner / HEUTE! (Tl AR

Correct Answer :-

» Average / 3fa

4) Which theory of development also focuses on social interactions in development? / ﬁ?"l’\q

P1 BI9-91 Rigia, faery & arfore Jaef iR WY s $iga swar g2
1. Vygotsky / CIENIRS]
2. Piaget/ﬁﬂT@I

3. Freud / /TS

4. Kohlberg/ W’f
Correct Answer :-

. Vygotsky / T3]

5) Asking students to list the uses of iron metal in class will help a teacher to examine which one

of the following creative abilities in students? / S Bl DET s | Fﬁ% | YTd & IUART &I
THlag $31 & T w1 ve Riered #) gg s # "eg w3 & o # Fufafag o
I PI-H) ITATHS &HdT 82

1. Flexibility / CTaITell

2. Originality / Aiferepar
3. Elaboration m
4. Fluency / YUdlg

Correct Answer :-

o Fluency /Ydlg

6) The movement in Maslow’s Hierarchy of needs should be from | AT & URUMT &
ST d | TaRAS fd gi-1 A1fee-

1. Love and belonging to Physiological needs / IR 3R YATY F AT ST e

2. Self- actualization to Physiological needs / TH-[IRAYOT T TSI SHTaIh T dh



3. Safety needs to Self-actualization / R&IT TAGDH T I 3T [Tl b

4. Physiological needs to Self —actualization / IS IS ¥ 3T Rifg b

Correct Answer :-

« Physiological needs to Self —actualization / g Sargdhdl ¥ 3T Rifg d&

7) Select the quality that is needed for a counselor. / W’Qfa'm & ﬁ‘l’({ STaRIP fIRwar &1
T I

1. being judgmental/ IO B
2. being arrogant / S g

3. being empathetic / TETIH[T TR Il

4. being defensive / Y&THD Eﬁ:ﬂ

Correct Answer :-

« being empathetic / ETYfd TR B

8) What is an infant likely to suffer from if the mother consumed large amounts of alcohol

during pregnancy? / mﬂm%mﬁﬁaﬁmﬁwmﬁiﬁm%,a‘r
R &t a1 JHaE B11 B U1 82

1. Prenatal retardation / U¥d ‘Jﬁ Hedl

2. Fetal withdrawal syndrome / YUI G| ﬁl@'q

3. Fetal alcohol syndrome / Y01 HeJ g

4. Perinatal alcohol syndrome / FTGeTRIl HeJ ﬁl@ﬂ

Correct Answer :-

« Fetal alcohol syndrome / YUT ¢ Rigia

9) What strategy should a teacher use in a situation when the student is being impolite? /

B & 358 8l o &I FRUTT & v Riere & fvw Yor-fa ST ST H=1 A1 e?

1. Punishment / 68

2. Remind the student of classroom norms / P&l o o B Bt Jlq Iracﬂ-ll

3. Argue with the student / ST & 1Y dTe-fadrg H

4. Express shock / efaferd ®R oAl

Correct Answer :-



« Remind the student of classroom norms / D&l gH B Bl BI Jlq iaﬂl"ll

10) What is the term given to describe the conditioned stimulus before classical conditioning

occurs?/mm@%@maﬂﬁﬁﬁﬁwmaﬁhwa?mﬁq-m
e far mar g

1. Natural stimulus / HThfdd So]
2. Unconditioned stimulus / {Ts{eId SoHT1

3. General stimulus / JTHTT ST

4. Neutral stimulus / dc& RSEEI

Correct Answer :-

» Neutral stimulus / dc& G%TB‘FH

11) What is the set of linguistic rules that govern the use of language for communication

caned%/uw@ﬁuﬁmagﬁnmw%aﬁaw%ﬁuwa?mﬁﬁﬁm
PIATE?

1. Grammar / HIhT[

2. Phonemes / af=1d

3. Pragmatics / JUIRTdTarg
4, Syntax / Al ﬁiﬂ:l

Correct Answer :-

. Pragmatics/EClEmil(_'llala

12) By the age of six months, infants are able to do the following, except ./ 9 'FI_Eﬁﬁ

Mogae, RgREm__ FPuRiRasiswdvemdad
1. Babbling / JAQTT

2. Crawling / Ud & & a1 (hITeiT)

3. Sit up / 939

4. Eat solids / 319 &1 @M1

Correct Answer :-

o Crawling /%%WW m“i%m)



When social beliefs are transferred from one generation to another, it becomes part of: / oI

Wﬁlﬁ;ﬁﬂeﬁﬁwﬂaﬁmmﬁﬁmﬁmm%ﬂwwm
CERCIGLEGE

1. Transmission of culture / H@f& CARIERY
2. Social mobility / IS CRIGRINGI]

3. Social change / AT aRacH

4, Individual development / Hfeard faer

Correct Answer :-

+ Transmission of culture / ﬂﬂv—f?f BT R0

14) Personality is measured based on approach./ fdae ot HECIL|
& JTYTR R {IUT AT 5 |

1. Ideographic/ TeRT&R faves (3msfeal wfthep)
2. Socio-radical / JHHTT-HERUU

3. Surface-radical/ ﬂﬂﬁ-mﬁ
4. Nomothetic/ FTHFAY! ST ([HIACIH)

Correct Answer :-

. Nomothetic/ FTHFIS! IUFH @YD)

15) In which of Piaget’s 4 development stages is object permanence developed? / g & 4

faera srawmaii ¥ 9 fory srawiT # avg =i faw e gidt 82
1. Formal Operations / e Afshards

2. Concrete Operational / ﬂjw

3. Preoperational / tlj BIERIRIED

4. Sensorimotor / g@q SIAd

Correct Answer :-

 Sensorimotor / gf%q SIfd

16) Piaget’s Pre-operational stage is from . / Toars @t Qﬁﬂ'ﬁ?ﬂm SARYT
gl

1.7-11 years/7—1la'5f



2. 11 years and above / 11 atTQ‘q’ 3HfeH
3.2 -7years [ 2-7 ¥
4.0 -2 years /0-2 CL

Correct Answer :-

. 2—7years/2—7a'5f

17) Who said, An intelligence is a “biopsychological potential to process information in
certain ways in order to solve problems or create products that are valued in at least one

culture or communlty” WW §@THT WTGﬁ aﬁsamﬁmw@raﬂrw
TP i a1 AT H eudT SdT6] &) 991 & Y $© a8ie) A THaRI & JHifid
mﬁ%ﬁmﬁaﬁ%mﬁ&nﬁn%l"

1. Gardner/ TSR

2. Willingham/ fafeRTed
3. Callahan/dreer

4. Sattler/ @EFIT

Correct Answer :-

o Gardner/ ‘Ilé:lq

18) According to Psychosexual developmental theory, failure to successfully complete a

particular stage would result in: / T fae™ Rrgia & SR, Uh =Ry R+t
Ahadrgde® RT B3 J fAwadar & uRumIa=y gim:

1. Fixation / RIS (ﬁ'ﬁ:\a’ﬂ:{)
2. Libido / STHIISHT

3. Electra complex / Q@FRAT HARIY
4, Oedipus complex / INfSTq Iy

Correct Answer :-

« Fixation / RRIH (ftb_d@?l:f)

19) By what age are children likely to make friends? / oSy e & TP
gid g2

1. Four years / IR Y
2. Three years / NG GL



3. One year / waﬁ
4, Two years /EBI GL

Correct Answer :-

o Three years / iG] GL

20) is the main determinant of cognitive development and learning. /

TS e SR siftna o1 grer frufye &1
1. Values / G‘IE'&I'CIT'T

2. Beliefs / HI-IdI

3. Principles / Rygid

4. Culture / ﬂ@ﬁf

Correct Answer :-

+ Culture / ﬂ@ﬁf

21) If a child has difficulty putting words down on paper, it may be due to a learning
disability. The best instructional strategy to implement in a classroom to support children

who struggle with writing would be to: / gfe fordl 9= &1 I B FR R for@a o
SfSATS Bidl 8, d T IRATH H&HdT P PRUT S Hhdl ¢ | A= P 1Y TS B aret
aﬁmwﬁﬂjﬁaﬂﬁ%m$ﬁﬁmmﬁ%§ma@mvﬁﬁ

1. Provide more time on task/ PTd TR H{eIh THY Ul dhAl

2. Provide extended periods of time in the resource room to receive one-on-one assistance/ d--

3{19-g TgTIdT UTd B3 & e TGq1eA el H 7y B foxaiivg 31afd U &A1

3. Provide peer tutoring during writing time/ Qe 9HY o (fl%l'-l dedh of YXI Hal Al

4. Provide detailed directions and graphic organizers to help with structure./ T & Y Aeq

FRA & oy fagd e iR Wit S UaH &Rl

Correct Answer :-

« Provide detailed directions and graphic organizers to help with structure./ T & Y Heq

HA & fore faegd T oiR Mithes SRS Ue &

22) The variable that the scientific investigator changes or manipulates is called:/ dg dX

ford A1 SrAue TqeTdT @ U1 8XBR HT 8, I Bl Tl ¢

1. independent variable/ T TR



2. responding variable/ RGN TR
3. Control/ TTH
4. dependent variable/ 3TT3d TR

Correct Answer :-

. independent variable/ ¥Ida TR

23) The mental networks that children form in their mind is known as: / T P ﬁTIT‘T i |

91 a1al ATFRIP Acad & 59 =Y | ST STl 8:
1. Impulses / 3T (3Ucw)

2. Archetypes / 3TERST (3MTFeT3)
3. Maps / dIh] (@)
4. Schemas / TR UHT (TH1HT)

Correct Answer :-

« Schemas / UG (E’ﬂTIT)

24) Which animal was involved in Pavlov’s experiment of classical conditioning? /

UTddId & FATRIP A HSIR=NT & TINT § HI--9T Ja A U712

1. Dog / ol

2. Pigeon / P qd}
3. Rabbit / WRINT

4. Rat / ggl

Correct Answer :-

25) Which of Erikson’s stages of psychosocial development involves the development of a

sense of competence? /W%ﬁwﬁlﬁm%mwﬁmﬁmaﬁ HIg-AT
&1 faowra afdfera giarg?

1. Autonomy vs. shame / ATl dTH ¢\l

2. Industry vs. inferiority / 3TN §-ITH I

3. Generativity vs. stagnation / ST THD T d-H R

4, Initiative vs. guilt / Ugcl d-H aﬁ?ﬂ



Correct Answer :-

« Industry vs. inferiority / STNT &1 g1

26) Which of the following is not a hindrance to creativity? / Frafafea &9

TS AT & 1T T Sraviy 7181 82

1. Divergent thinking / IRPESIE]

2. Functional fixedness / BT R aRIT
3. Convergent thinking / SR A

4. Mental set / AFRI® I

Correct Answer :-

« Divergent thinking / IEEKIIE]

27) Which of the following disorders is caused due to error in cell division?/ PIRDT

faue & 3 & sru i § @ S fieR gare?
1. ADHD / TSIU<S!

2. Dyslexia / f&ifaaan

3. Autism / 3flfcoH

4. Down’s Syndrome / 313 Rig1d

Correct Answer :-

« Down’s Syndrome / SI3+ @lf_@ﬁ

28) The practice that legitimizes powerful men’s dominant position in society and justifies the
subordination of the common male population and women and other marginalized ways of a

being a man is called /a's'umrrﬁmﬁrﬁm?ﬁgw‘raﬁmnﬁ@xﬁrﬁ
Y FATA! B 3R 37 T3 Srard} 3R wfgensit & srefiar &1 siifarcy ue™ H<dl 8 8k
TP [oY 1 & 3= JHHid aiidb] bl SIS 2|

1. Femininity/%ﬂc_d

2. Emphasized femininity/F?ﬂaq?\_rﬁTa:ﬂ
3. Complicit masculinity/ﬁmtﬁw

4. Hegemonic masculinity/mm

Correct Answer :-

« Hegemonic masculinity / 871 GIoN



29) What do you mean by curriculum? / UTeUhH 9 WWWW%’
1. Sum total of the activities of a school. /ﬁWﬁWHﬁWI
2. Sum total of the annual study. /W I B GHUA|

3. A child learns through curriculum. /WWW@[ WW% |

4. Indicates the course to be taught by the teachers to the students throughout the year. /tﬁ a'ﬁf

7 el gRT BT B UGTT SIH aTdl UTSdshH &1 3R HraT g |

Correct Answer :-

« Indicates the course to be taught by the teachers to the students throughout the year. /03 a'ﬁf

7 Rrerp! gRT BT B UGTT S aTdl UTSdshH &1 3R HRaT g |

30) Students can overcome their misconception for the long term through: /

Tt tafaf o fora wreaw A o= SR Sr@YRUMS | UR UT 9Fd &
1. Traditional teaching / TRUR fRI&f0T

2. Standard teaching / AT TRI&T0T

3. Refutational teaching/ FARTHRUT RI&70T

4. Conventional teaching / TRURITA fRI&f0T

Correct Answer :-

 Refutational teaching/ fARTHT fRrgor

Topic:- General Hindi (L1GH)

1) T1 B JIR] & dibda &1 Yaud 8| dedie M- # died S THIAd 819 ard 3R 39 gHE o
Siiad o ard @ & o g1 3 areierRt Afd 31 39 I srawit # e e Iqg iR IYer
Ft UrfleR WRHR A gl 31 A & T 39 919 &7 AfUPR g1 @ fr 7= & adiel F IR & 379
Tars ot 9| fH=dT off 3 IRPR | 8% ANRS o1 31 g1ar 8 8iR g Ui & gRT 31aT 81 WRd TS
Aedife S 81 HRd & aNT N FafieR & Aread F -1 ufaffy g9 81 39F a1¢ g ge ufafAfy
TP TIBR B! G4 8 | I8 PR ASHRT BT AT gardl 8 3R FHaw 3R S &1 "=ie= sl 8 a1 2
Tt 31 a1 T gad Risia 8 % 8% uoR o) Temfae wife &1 wd e gidl 31 dedd
T TRT RIS B GRS & ATeaH | (U= 3T WR X Hd & | TP et Apaitad IReR § Jure §
IufRya fafay TEl sk wal @1 Ifra wwar fear sirar 31 5= fifeat & fAufor & g2 et 9t smar g+t
;ﬁ;}wﬁﬁwmﬁﬁm%%ﬁﬁeﬁﬁaﬁwﬁ%wwﬁﬁmmﬁmmﬁﬁ
|

a1 @1 Argier) | fafira amfore Tugl o edvrg B &0 w39 § ueg frad! 31 safed gure o e ok
TNifa T8 T F ol w1 Y ATeigR} o 3 1 T9T B TSieR! A TgSIP & SATHd I 997 S bl
2| TgERIE & AP A 7 Had TIPS WU q9T8 & o1dl @ afew sguerd I4g t aag giar g1
NI BT 1T §) AP IS TRPR BT ATYR T 8 1 ST A B T BT I 3@ F ford
AT B ATSIGRT T g1 TS B cHId HR TgUSIP & TP i AB-1 JT i AR BT JHIGRY



WRT PROI 7| ADHAT BT SHTHT DT H&UUT IGT FT BT AIGIGRT BT AfId HROI g | A $ fafis o,
4 faerfieT, srdufere oiv raufereT; & fiw w1 o1 dearT gidT 81 39 e & dear ot dfaw
eaRT H§T A1 Pl 71

ITE TN DI USH A Y T YA BT I@ qa1s¢l

uy: YR ¥ g9 g¢ ufafafd frae g=a 82

1. U Dl

2. <ITER Dl

3. fopft 1 1Y

4, TRHR DI

Correct Answer :-

. AR B

ST UL B UghR A1 AU T¢ uef & IR 9a18q :
TY: A ST BR UR FT A 82

1. dHg

2. UR

3. WX



CNANECICN]

Correct Answer :-

A GG

SSERICIN

T STt ffeat v w

AT T &

ITC ¢al HeRt B W

awft ot 3

Fielt qra-arad B W)

7T 3T §

AR ¢d §d B R

Hed ot &

HHe At § 99 O

3 foars ug gral §

3R 59 e et g v A

TP Hfadr B R

ST TN B UgpR A1 foT T¢ vl & IR 94183 :
TY: BT TS §T41 A A8 $A Ao TP Hidar feradt 2
1. Tl TeHR WX &l fdd Hb

2. BRTI-HeH DR

3. a1 I I et 8

4. T3t O fergar =

Correct Answer :-

. TeTh GHeHR BRIl B AHd b



R ardt q@ v R
SSERINI

wort e fRifeat v w®
AT T &

J0C ¢al HeR B W

wwit ot 3
CIRCIKIGEEI CRR RN

qTaT 3T §

IR gd d B W)

Hedt ot @

HHe At § 99 O

3y fars us BTl A

3% 39 v Rred 3 &¥ A

TS Hiadr B W)

ST Ui Bl UgHh -4 fr T g & IR qarsy
uY: ‘fYarg’ &1 71 Uaad giar 82
1. FPRIRE

2. §TY-IR & THS BT B

3. Wdl &1 SdTs

4. B! B g3HTS

Correct Answer :-

. BIU-TR & IAS BT Hedl



91T 3T &

AR ¢d 9 B R

Hedt ot @

HHe Adl § 99 5O

3 fyarg us grui |

3R 59 e foreeht @ R A
TS Hiadr B R

IuYed U=l B g 19 AT 1T sl & IR garsd
uY: ‘HelY fHue! Fed 82

1. Had g TIAD]

2. Had W H HTH B drelt

. Iugad ot



S Ui ®1 Ugd -1 fr T uel & IR qarsy
WY: ‘IR ATAT B oI ST Rifear & «ar ared 82

1. URR & Bl gho

2. SWgFd H A $B ol

3. IS & BIc-BIc Tho

4. YU F BB T

Correct Answer :-

. YU & BIC-BIC TP

faer ot @ wxf wr

RX 3T &

e wran ffear v

AT 3Tl B

I9C ¢al et B W

wuft Tt @

Felt gra-arad B W)

1T 3T §

AR ¢d 9 BRI R

Hedt ot @

HHe Adl § 99 5O

3 fyarg us gl |

3R 59 e foreeht @ R AW

TS Hiaar B/ )

Iued U=l B g 19 AT 1T sl & IR garsd
U YAT SATHT BRI W FT IAC Sl 82
1. pefard

2. Feuit

3. TRt

4, HR

Correct Answer :-



AT T &

ITC ¢al HeRt B W

awft ot 3

et gra-arad B W)

qTaT 3T §

AR ¢d §d B R

Hedt 3Tt &

e At ¢ 99 O

3 forars ug gral §

3R 3 g foradt & gX I

TP Hfadr B R

ST U B UgpR A1 AU ¢ uef & IR 9a18a
TY: $9 BIAaT | ‘ST g 5w 3 F wgar gam g2
1. WR D

2.3 b

3.4 HSD
4, YT &

Correct Answer :-



wor e fRifeat v w®

AT T &

JTC ¢al HeRt B W

el el @

el qra-arad B W)

7T 3T §

IR gd Jd B R

Hedt ot &

HHE At § 99 O

3y fars us g1l A

3R 39 e foradht @ 3

TP Hfaa v )

S U=l ®1 g -1 fr 7T uel & IR Tarsy
WY: 9 HIadT & TR UTUT THT BRI TR FT Hd 32
1. OIS A &

2. Jd JAR A &

3. qHIS PRA 8 |

4. 1S T &)

Correct Answer :-

. Y IdR A B



Aot ot @

HHE Al § 99 O

30 farg ug Tt A

3R 39 aE foradft & g3 3

TS Hiddr B R

ST TR B UgdR A T 7T uef & IR 9415
TY: DI TP B U Ya faeR ot 32
1.7

2. Fafgan

3. 9=

4. ®dl

Correct Answer :-

ST U Bl UgHR A1 AT 1T Ui & IR 9a15a
UY: 3R 39 a8 frad! 8 8% IS Ue faar B W § SafdEf &1 bd fras! ok 82



1. e BT 3R

2. T8 q IS &t

3. forft T=IgR FHafef & 3R
4. T8 Bt 3R

Correct Answer :-

. " @l 3R

AR d Jd B R

Aol ot @

HHE Al ¢ 99 O

30 farg ug gt A

3R 39 aE foradt & a3 3

TS Hiadr B R

ST TR B UgdhR A1 AT 1T uef & IR 9a13q
U IS 3MTHR BRI & 1Y FT TGP BT 82
1. THI G § TR

2. S & g

3.3 TH Y PD TEl

4. o1 ST § it

Correct Answer :-



13) fafar ameht @

STa STt foeds Wi W)

4T 3Tl B

R @t @ wrf w

R AT B

o1 ran ffear v

A T @

IC a1 P B W

wuft o @

CIRCIKGEEICRR R

a7 3T §

JdR od od B W

Aot ot @

HHE Al § 99 O

3y fars us BTt A

3R 39 @vE feradt @ 52 A

TS Hiadr B R

ST TR B UgdhR A1 AU 7T uef & IR 9asd
UY: TG BRI TR J5BT F-FT HTH & Thd 82
1. TET, T, Tpar e

2. I, TR-UTeT, YIRS YHRIE H WA g1
3. JaRT, WHT U

4. <, &, ‘l-l\l\ﬂ"l, CIREIN

Correct Answer :-

o [, [, ‘1-I\I\J1"I, QIdand
14) farfgam ot &

STd STt fomds =t W

g1 ATt 8

R Tt 4@ wRf W
X T B

g e Rifear vy w®
AT 31T &



ITC ¢al et B W

wwlt ot B

Fielt gra-arad B )

qTaT 3T &

AR ¢d §d B R

el 3Tl @

HHe Al § 99 TO

3 farg ug gral §

3R 59 e foreelt & R A

TS Hidar B )

Iued U= B g 19 AT 1T usf & IR garsd
TY: PH A DI TG A TGN S AN A RIS TAE ?
1. 95

2. foarg

3. gl

4. (A=

Correct Answer :-



30 farg ug gt 4

3R 59 e et g g A

TS Hiadl B W)

I Ui &1 UgH 14 fu T uel & SR Ta15q
wy: fafSar snex w=f w 7 319 Wt 32

1.3

2. 318

3. 9=

4. fadd

Correct Answer :-

el e fifeat =i )

AT 31T 8

ITC ¢dl HeRt B W

wwdt Tl @

et qra-arad B W)

7T 3T &

AR ¢d §d B TR

Hed 3Tl ©

HHe Adl § 99 TO

3y fars us BTl A

3% 59 wXe ot R 5¥ A

TS Hidar B )

Iuad U=IiRI ) g 19 AT 1Ty & IR garsd
UY: ‘AL ST J9 $S T Al 37 A T AAAS 82
1. S0 A B 6!

2. MM §1Y A B



3. M dHR 9Ud gl oldl © |

4. 9 R IR eft g2 AR Tl gie At R

Correct Answer :-

. 9 Rl R el g TR T Ie At B

17) 1 ®1 ArEier 1 diead T gadd 8 | Sediae AE- § diead § THIRAT 819 ard 3R 39 yuEa o
Sitaq oA aral @i & f T 3t IrgierR) AR 31 39 U et § v Qe GiE iR e $t
Yrfierd) TReR & gl 81 @l & URT 39 a1 7 SAfUSR BT 8 fob e & adiel & IR & 399 Jarg o
S| et oft 3y TR H 5% ATRe &1 feva giar 8 o a8 urfiert & gRT oaT 31 URA U Aidpdii®
1 31 URA & A1 WY wafierR & arerd J ra-r ufaffy gaa 81 9% a1¢ g7 g¢ ufaf Ay v e #t
T 1 IE IRPR ASTHRI BT T TaTd! 8 3R 1 3R A &7 T=ireq Fedl ¢ 91 14 | 45t 31
Arhda &1 TP gayd Rigid 8 fF &R vaR 3t Iefaes e &1 i uor gidt 81 aidad § @R @RS $t
TYT3MT & A1eH |V U 3T W AT R ¢ | TP S Apdife WReR o JaTe § IufRyd fafae augt
3R Tal 3t IR T G wimar 31 = et & fmfor # g7 vl 9 smae I et 31 s aw
TR B o1t § 1 fadt oft eiterds & oM T &1 JearT siftre J eiftre ArTiet & S gt

a1 Pt Argien A A arfe Tugl § chva @ $H 31 | Heg fad 81 safid wue § WeTs iR
TNifa 1A I & R 1 B ArieR) o 8 | 91 B TSR | TEeId] & SHTdd | 997§ Ghdl 2|
TEHCID & AP A 7 Hadl CRIBIP JYF 918 81 AT 8 i dgaerd Iqg W aarg giar g1 & &
STATS § APAiAS TIBR BT YR T4 81 FAA Abda B AT BT W 3T & o 7«1 $t
AR =¥ 81 GUTS W THIG 3R TgHCAP & SATdh B Ah-11 Tl BT ATHGRY BT FUIGRT URT BRI
B Aha B THT T VT G FHT DI AIGIGRT PT ATS SR B | M & fIfHa 3imt; S faerie,
%ﬁmﬁmaﬁ?qum;%aﬁwmﬁﬁmﬁm%lwmaﬁﬁﬁaﬁaﬁﬁﬁﬁmwmm
|
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wY: et 3y TRPR | X ANRS &1 1 gl 32
1. Uq
2. dd]

3. few=m

4. Hd

Correct Answer :-

18) T B! ATIIGN g Abdd BT gaad 8 | ADdit® Ja- A dibdd & THIIT 814 arat ok 39 yua o
Sitaq o ara @R & S I 3t ArgierR) AR 31 39 U SaawiT § YA Qe JYE SR aHer $t
YTt TR & gt 81 A & URT 59 919 F7 SIfUSR giar 8 f I & adiel & IR o 391 gag o
| et oft 3y TR # 5% AR 1 fva ghar 8 o a8 urfiert & gRT oaT 31 URA U Aiddi®
R YRA & A1 W TarfreR & aread A e ufaf =iy g 81 39d 91¢ g gu vfaf iy v ReRr @t
A B | TE IRPR ASTHRI BT AT TaTd! 8 MR 1 3R A &7 T=iteA Hedl 8 a1 18 w4t 31
e T TP Gayd Rigid § fF a3 ToR ot vemfae ufes $1 5 uel g1l 81 diddd § @R =T ot
TRT3 F AT A U TY W AR B34 ¢ | TP et Apdiie weR § gare A IufRya fafae augl
3R wal &1 I ww e smar g1 59 et & o d g7 fef 3t smarer g ot 81 3afer 9w
T3 ) wira @ T fonsdt oft Atepds o Troifae W &1 dearT sifte 3 it AmTiet & S g



T 3t AigieRt A fAfd Jfore Tggi § TH1d B 9 B3 | Heg fHadt 81 gaferd 9 # HigTs 3R
e T T & R 1 B AIieR) o 8 | 91 B ATieR | TgNSId] & 3HHd | 997 o Ghdl 2|
TEHCID & AP A 7 Had CRIBIP JYF d91E 81 AT 8 afewp dgaerd aqg W aare giar g1 @ @
TS § APAiA® TIBR T YR T4l 81 FAA Abda BT AT BT W 3T & o 7«1 $t
TR} =) g | U H THRAG 3R TgH-TP & TP P ABHT T DI ATHERT BT UIGRT U HRUT
B AIBa B THT DT VT G FHT DI AIGGRT BT ATP RO | M & fIHa 3T; S faenie,
gﬁmﬁmsﬁ?mﬁmwmﬁﬁmm%lwm%ﬁﬁﬁaﬁaﬁaﬁﬁmwmm
|
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WY: I & 51 3T & dia da w1 o1 dearT giar g2
1. Iugad oI & o

2. Bad fayTRyeT

3. had UTIeIh]

4, Had HRUTICTEHT

Correct Answer :-
. Sad A & S

19) T ®! TSGR 8 Abdd BT gaad 8 | AP di® - A dibad & TUIIT 814 arat ik 39 yua o
Siae oA ara @i & ST T 9t Ao’ Aifed 31 39 I saawiT # yde Jifore I9g iR Tqerd 3t
Yt TR & gt 81 A & U 59 919 F7 SIfUSR gia1 8 f I & adiel & IR o 39 gag o
W | et oft 3y TR # 5% AR &1 feva giar 8 8iR a8 urfierR & gRT 3aT 31 WRA U Aiddii®
I 3| YR & A1 WY TaReR & aread & 91 ufaf=fy god 81 9@ 91¢ g7 g¢ ufaf iy v SRR &t
A B | TE IRPR ASTHRI BT ATE TaTd! 8 MR 1 3R A &7 T=iieE Hedl ¢ 91 18 g g4t 31
Apda &1 TP gayd Rigid 8 ¥ a8 veR & Iefae ufe &1 i uor gidt 81 aidad § @R W@Re a9t
TRT3 & ATHH A U Y W AR B34 8 | TP st Apdiie ReR § gare A IufRya fafae augl
3R wal &1 3w e smar 81 59 et & fufor d gv fef 3t smarer g ot 81 3afer 9w
T ) wira @ T fonsdt oft Atepds o Teifae W o1 dearT siftre 3 it AmTet & S gl

1 B ARt A fifia wmfe Tugl # coea & 8 $31 A deg ad 31 39 wue # Hier ok
Thifa T T & Rl 1 31 ASieR) Sl 3 1 9T B Ieien) | IERisIdl & STdd | g9 off JHdl 3|
TEHEIP F AP A T HId ACURIBIP TG q9T8 81 ATaT @ Iy dgaeid ayg i aars giar 31 @ &t
3TaT § APdiAS TRPR BT YR T4 81 FIRRA A B ATHT BT IHTH ¥E@ & ford I« #)
TSR S 8 | THIST | THING 3R TEHBIP P TGP B AT Il B JTSiGR] BT JHIERT HRT BRI
21 ANDAT DI T BT SA&UUT TG T Pt ATIGRI BT Afad SR B | A F Al sit; I fenRye,
?&meﬁ?wﬁmﬁﬂawmﬁﬁm@m%lwm%éﬁﬁﬁmmwmm
|
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TY: TN BT ATt €1 fhaeT U 9Tt 82

1. A H

2. GEHR H

3. Q-G BT

4. B AIAD TRBR BT

Correct Answer :-



. AHdIAD TRBR B

20) TT B! QTSR] § ABad HT AU 8| APditd A T dipad A TUIRAT 811 ard i 39 gUEa o
Sita= oA ara RN & o I Y ArgierR) AR 81 39 U SIawi § vl e 99E R qe $t
Yrfier} TReR & gl 81 Al & URT 59 91 o1 SAfUSR 3T 8 fob e & aiidl & IR & 399 Jarg o
S| et oft dy TR H g% AR 1 feva giar 8 o a8 urfierRt & gRT ofaT 31 URA U Aidpdii®
1 31 URA & A1 WY wafRieR & arerd I = ufaf=ify gaa 81 39 a1¢ g7 ¢ ufaf Ay v e &t
T B 1 98 THR ASHRT BT M- Tard! 8 R i 3R ST &1 W=ty wedl 8 a1 72 gy st 81
WP BT TP qayd Risia & fp 8 TR FI Iomfae iR o1 Hid Uol gt 81 Adda § 1 TR 91
TR F TATHAH | U 3T W AT B3 8 | TP st Aipdiis ReR 8 gare § IufRyq fafae augl
3R wal @1 3w R smar 81 5 Hifeat & fufor A gv el it smarer g ot @1 3wl gw
TR g ot g 1 fadt oft eiterds & remifas T &1 JearT sifte J siftre ariet & S gt

T B ARt A il wmfe Tugl § cova & $1 w3 A geg rad! 31 suRr 3w # wHier ok
TNifa T I & R T B ATigR) o 8 | 91 B TSGR | TgNSId] & SHTHd J 997 o Gl 2|
TEERID & AP A 7 $ad CRIBIP TYE q91E 81 AT 8 i dgaerd aqg Y aarg gar g1 @ &
STATS 8 APAiND TIBR BT YR T4 ¢1 FAFA Abda BT AT BT W IW1 & o 7= 3t
TR W= g | TS § THIT 3R TgHBAP & TGP DI AT T Bl ATSIGRT BT THIGRT UIT BRI
B ABa B THT DT U TG FHAT DI AIGGRT BT ATP RO | M & fafHa 3nT; S faurieT,
gﬁmﬁmsﬁ?mﬁaﬁawmﬁﬁmﬁmélsﬂm%ﬁﬁﬁaﬁaﬁﬁﬁﬁmwmm
|

ITYR TR B USHR H ID T U= o1 Ik qa1su|

TY: ABT B ATHT B HEUUT IGT TT B ATHGRT BT HI-AT HIROT g2
1. 3Hfd®

2. Afd®

3. Uit

4. AT

Correct Answer :-

21) I Pt ATIER & Abdd BT YAHT 3| AHdiAD WA H Abdd & TUIIT g4 arat iR 39 yua o
Sitaq o9 aral @R & I 3t ArgieRt AR 31 39 U SuawiT # yd® e GYE 3R aHer $t
YTt TR & gt 81 A & U 59 919 F7 SIfUSR giar 8 f I & adiel & IR o 39 garg o
| fpaft oft 3y TR # 5% AFRe @1 fva giar @ o a7 urfiert & gRT oaT 31 URA U Aidpdii®
31 URA & A1 WY wafRierR & qrerd J ru=r ufafAfy gaa 81 9% 918 g7 g¢ ufafAify v e %t
A B 1 IE IRPR ASTHRI BT T TaATd! 8 3R 1 3R A &7 T=iteE Hedl ¢ a1 =14 w9t 31
e T TP Jayd Rigid 8 fF a3 ToR ot vemfae it 1 5 uel gl 81 diddd § @R =T ot
TRITS F AT A U Y W AR B34 ¢ | TP et Apdiis ReR § gare A IufRyq fafae augl
3R wal &1 I I fan smar g1 59 et & Ao d gv fef 3t smarer g ot 81 3afr gw
T ) wira @ T fonsdt oft Atepds o Troifae W &1 dearT sifte 3 it AmTet & S g

1 Pt Argient A At arfe Tugl § chva @) $0 331§ Heq fadt 81 3afid wue § WeTs iR
TNifd TR T & R T 3t ASieR) Sl 3 1 T B AiRien) | IgNSIdl & STdd | a9 off JHdl 3|
TEHRIS & AP A 7 Hadl CRIBIP JYF 918 81 W11 8 afewp dguerd Jqg Y dare gar g1 &
ATATS § AHAIAD TIBR BT YR T ¢1 FAMA Ahda B T BT T 3604 & o w«1 3t
TSR I3 8| TS | THING 3R TEHBIP F TGP B AT Il B JTSIGR] BT JHIERT HRT BRI
B ABa BT THT BT ST TG FHT DI AIPGRT FT AfTP FROI B | M & 3T 3it; S faenfye,



;ﬁmﬁmeﬁvwﬁmﬁ@awmﬁﬁmm%lwm%iﬁﬁaﬁmmwmm
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UL T B UgHY 2 TR T U $T I« T3¢

TY: Aipad B AT foheT SwaTail & ATy I 3u= 31U UR T H3d 82
1. A Bt

2. I[STGiA &I

3. A BI

4. TRl &I

Correct Answer :-

. RS B

22) I Pt AR & Abdd BT YA | APdie AH- H A § YHIAT 811 ardt 3R 39 qua o
Siiae oA ara @i & i T 9t Iie’) Afed 31 39 I srawit # yde e I9E iR Tqer $t
Yt PR # gt 81 A & U 39 919 F7 ISR ghar 2 fr I & adiedl & IR o 397 garg o
S| fsdt ot 3y PR | g ATRS F1 o giar @ 8k g8 Hrfiert & gRT a1 81 URd U aiPpdiiAd
31 YR & A1 WY aafReR & arerd I v=r ufaf=ify gd 81 9% a1¢ g7 ¢ ufaf iy v e a6t
A T1 g IRPR ASTHRT BT ATH Tard! & 3R 1w 3R 1A &1 T=iteq Hedl € a1 78 fHaw g9rd 31
Ahda &1 TP Jayd Risid 8 f 83 yeR &) Iofae ufdt &1 Hia uon gidt 81 aidad § @R W@Re a1
TRT3MT & A1eaH A U 3T W T R ¢ | TP S Awdife GReR o Jare o IufRd fafae augt
3R wal ®1 I wwE R smar 81 59 Hifeat & fufor A &v el it smarwr g ot 81 3afr gw
=3 ) wirat @ T fonsdt oft Alepes o Tofae i &1 dearT siftre [ it ATt & S g

T o1 Aot A fafts arfore augl o cavig B o8 H | e adl 31 3afer) gue # Hiets 8k
TNifa T8 I & R I B AR} 9 8 | W1 Bl TSGR W IgNSId] & 3Thd & 997 o Gl 2|
TEHED F AP A 7 $Id CTHSIS WIE q918 81 oAl § diep dgaeId uqg f aa18 giar 3| @ o
STATS B APAiAD TIBR BT YR T 81 FAMA Abda B AT BT W 3901 & o 7« 3t
TSR o= 8| TS & ThIT 3R TgHBIP P TP DI AT Gl B TSR] BT USR] HRT BRI
B AIBaa BT STEHT DT U IEHT HAT DI HIFGRT BT AP HIRYI g1 M & fafH 3rT; S faurier,
%ﬂ&mﬁmeﬁ?m;%dﬁwmmﬁm%lwmaﬁaﬁaﬁaﬁmmwmm
|

ITYe TRIRI B UgH 19 IR T U=H &7 I« 9a13¢|

WY THTS | HigTs 3R 2ifd 910 TE@ & ford o o sl 2
1. Hdald

G

3. dHald

4, T 1 AIGRT

Correct Answer :-

. T D IRIGRI

23) I Pt Argier & dbdd BT YA | APpdite AH- A b § FHIRAT 811 ardt 3R 39 yua o
St oA ard i & o I Y Argier) AR 81 39 U S1awi § vl e I9E iR qe $t



YFfGRT TSR | gldl 31 AN & URT 39 91d BT fUSR glar g {6 I & adiiel & IR § 399 Jarg ot
S| fsdt oft 3 PR | g1 AFIRS F1 o giar @ 8k g8 Hrfierdt & gRT a1 31 YRd U aiPpdiiae
1 31 URA & A1 WY wafRieR & arerd J - ufaf=fy ga 81 39 a1¢ g1 ¢ ufaf Ay v e &t
T §1 T8 IRPR ASTHRT BT ATH Tard! & 3R Fraw 3R S o1 T=ieq Sl € a1 98 fHaw g49rdt 31
WP BT TP qayd Risid 8 f 8 TR FI Iomfae iR o1 Hid Iol gt 81 A § @1 TR 9
TRITS F 1T | U 3T W AT B3 8 | TP st Aipdiis ReR 8 gare § IufRyq fafay augl
3R wal &1 I W R smar 81 5 Hifeat & fAufor A gv faf it smarer g ot @1 39l gw
SR31 81 oI @ 1 fapdt oft derda ® oM I &1 JearT siftre | aiftre ArTiRe) & S8t

T B ARt A il wmfe augl § cova & $1 w1 A geg rad 31 suRr 3w # et ok
TNifa T I & R T B AIigRY o 8 | 91 B TSGR | TgNSId] & SHTHd | 997 o Ghal 2|
TEHRIS & AP A 7 $ad CRIBIP JYE d91E 81 AT 8 i dguerd aqg Y aarg giar g1 & &
STaTS § APaiAD TIBR BT YR T4l 81 FAFA Abda B AT BT WA 361 & o 7« 3t
TGN W31 g | TS § THId 3R TgREIP & TGP DI AHT T Bl ATgIGRT BT TUIGRT UIT BRI
T ABa B T DT VT TG FAT DI AIGIGRT BT AP HRYI | M & fIfHa 3rT; S faurieT,
gﬁmﬁmsﬁ?mﬁaﬁawmmm%lwm%ﬁmﬁaﬁaﬁﬁﬁﬁmwmm
|

ITYR TR Y UgHR H ID T U= o1 Ik qa1su|

wy: fosdt oft Aipda § eAfas |1 &1 dearT it & St feas dia g2
1.9 &

2. Ui &

3. TNIR®] &

4. BRI b

Correct Answer :-

. AMRDI &

24) T Pt ATER & Abda BT YAHS 3| AHdiAD WA= H Abdd & TUIAT g4 arat ok 39 yua o
Sitaq o9 aral @i & I 3t ArgieR) AR 31 39 U et § YAS e JYE SR aHer $t
YTt TREHR & gt 81 A & U 59 919 F7 SIfUSR gia1 8 i I & adiel & IR o 391 gag o
S| fpaft oft 3y TR # 5% AFRe 1 feva giar @ o a7 urfiert & gRT oaT ] 1 URA TP Aidpdi®
3?1 YRA & A W AarfeR & aread A oA ufaf =iy g 81 39 91¢ g gu vfaf iy v wReRr @t
A 1 IE IRPR ASTHRI BT T Tard! 8 MR e 3R S &7 T=iieE Hedl ¢ a1 =98 5w g4t 31
e T TS Jayd Rigid 8 fF a3 UoR ot vemfae i $1 5 uol gkl 81 diddd § @R =T ot
TRITS F ATHH | U Y W A B34 ¢ | TP et Apdiis ReR & gare A IufRyq fafaey augl
3R wal @1 I ww e smar g1 5 et & o d g7 fef 3t smarer g ot 81 39l gw
T ) wira @ T fonsdt oft Atepds o Toifae W &1 dearT sifte 3 it AnTet & S g

1 Ft Argien) A A arie Tugl § chva @ $0 331 | Heg fad 81 3afid wue § WeTs iR
TNifd TR T & R T 3t Ao} Sl 3 1 U1 B AiRien | IgNeIdl & STdd | g9 off JHdl 3|
TEHCID & AP A 7 Pad CRIBIP JYF d918 81 AT 3 gfewp dgaerd qqg W qare gar g1 &
ATATS § AHAiAD TXBR BT YR T ¢1 FATA Ahda B T BT W 3604 & o w1 3t
TSR S § 1 TS | THING 3R TEHBIP F TGP B AT Il B JTSiGR] BT JHIERT HRT BRI
B Aha BT THT DI ST TG FAT DI AIPIGRT FT AfTP FROI B | M & 3T 3it; S faenfye,
;ﬁmﬁmeﬁvmﬁiaﬁawmﬁﬁmﬁm%lwméﬁﬁﬁﬁéﬁﬁiﬁmwmm
|
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TY: T @1 Freiert | Al amafore Tyl d s su g S g?



1. ST

2. ChId

3. gganT

4. JHdY

Correct Answer :-

25) T B ATgeR 8 Aidda &1 gaad 8| dibdiie A § @ddy A puIfad a9 ard ofk 39 gy |
St S a1 &l & S a1 9 Arsier) R @ 1 59 e orawT § yde IS 99E SR GHer Bt
YTt R & gt 81 A & URT 59 919 F7 ISR giar 8 f I & adie! & IR o 391 gag o
S| frsdt oft 3y PR § g AFIRS F1 7T g1a1 @ 3R g8 Hrfiert & R 3141 81 YR U Aidpdiie
I 81 YRA & AT WY HafeR & Areay A oA ufafaf g 81 9% 916 A g¢ ufafAify v WReR &t
A B | TE IRPR ASTHRT BT ATET Tard! 8 MR 1w 3R A &7 T=iteq Hedl ¢ a1 78 5w 4t 31
Ahda &1 TP gayd Risid 8 b 8 veR &) Iefae ufd &1 i uor gidt 81 aiwad § @R W@ a9t
TRT3 F ATHH A TR 3T W AR B34 ¢ | TP et Apdiie ReR & gare § IufRyq fafae gugl
3R wal &1 Ifua T e smar 81 59 et & fufor d &v fef it smarwr g ot 81 3afr 9w
R4 B o1t § T fardt off eteras & Iremfae T &1 JearT siftre J siftre Ariet & S gt

1 B ARt A e wmfe TuEl § coa & $8 w31 A dag fad 31 39 Jue # Hier ok
Thifa 1A 7@ & R O 3t WIieR) SR 8 1 O 3 AIgieR) | 9gNeIdl & Tdd & F91 o GHhdT g
TEHRID & AP T 7 Fad IRIBIP JYF 918 81 1T ¢ dfewp dguerd Jqg Y dare giar g1 @
3TaT § APdiAe TRPR BT YR T4 81 FIRA Aihdd B ATHT BT IHTH ¥@4 & ford I« #Y
TSR S 8 | TS | THING 3R TEHBIP P TGP B AT Il B JTSiGR] BT JHFERT HRT BRI
21 ANDAT DI T BT SA&UVT TG TT Pt ATSIGRI BT Afad SR 2 1 ;IR & AR it; 9 fenRye,
gﬂﬁmﬁmaﬁwwﬁm;aﬁhwmﬁﬁm@m%lwm%ﬁﬁﬁaﬁ%mwmm
|

STIT T $) UgHR T D T U $T I@R a1
uy: 2 &1 Hfa-fmfor & arn S o a- afge?
1. Haaq

2. 9e1dl
3. 9ufT

4, 9dle

Correct Answer :-

26) T B AT 8 AHda BT e 8| drbdiie A= § @dds A puIfad a9 ard ok 39 gy |
g oA ara @i & i T 9t Iie’) Aifed 31 39 I srawit # yde e I9g iR Tqerd $t
YTt PR & 2t 81 A & URT 59 919 F7 SfUSR ghar 8 f I & adfiel & IR o 397 gag o
WA | fsdt oft 3y TRPR § g AT $7 o giar @ ik 98 HrfieRt & gRT a1 31 URd U aiPpdiiad
3| YR & A1 WY TafReR & arerd I v=r ufaf=fy god 81 39d 91¢ g7 g¢ ufaf iy v SRR &t
T 81 98 PR AR BT A Tardl 8 3R Fad 3R ST &1 dxited sl @ a1 2 e st 21
Ahda &1 TP Jayd Risid 8 b 83 veR & Ifae e &1 i uorn gidt 81 aiddad § @R @RS a1
TR & AT I U TY W A B 8 | TP st Aipdiis aReR 8 gars § Iufeyd fafae gl



3R wal &1 faa g far sirar 81 94 Hifaat & fAwtor § g fedt o6t smarer A wirdt 31 saferd a8
SR3) ) STan @ o feft off Sepes ® Iefae I &1 JearT siftre A 3t Arivet & S 8l

1 Pt Argient A A arfe Tugl § chva & $H 331 § Heg fad 81 3afid wue § WeTs iR
TNifd TR T & R T 3t Ao} Sl 3 | T B AieieR) | IgNSIdl & SMd® | g9 off JHdl 3|
TEHCIS & 3ATAP A 7 Fad CRIBIP JYF d918 81 W11 3 afewp dguerd Jqg W aare gar g1 &
ATATS § APAiAD TIBR BT YR T ¢1 FATA Ahda BT ST BT W 3604 & o 7w 3t
TSR =3 8| THTST | THIIG 3R TEHBIP F TGP B AT Il B JTSIGRT BT JHIERT HRT BRI
B Aha BT THT DI ST G FHT DI AIPGRT FT AP FROI B | M & I 3ii; S faenfye,
;ﬁmﬁmeﬁvwﬁm@wﬁawmﬁﬁmﬁm%lwm%ﬁﬁﬁﬁéﬁwﬁﬁmwmm
|
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TY: HRd & AR fo5a Areaw | sro=r wfafaf g=a 82
1. 1Y TaeR gRI

2. BIY 33N

3. I UihaT

4. BTY SNISHR

Correct Answer :-

. e AAIYSR gRI

27) G Ft AR & Abdd BT YAHT ¥ | APpdid WH- H dbdd & gHIRAT 811 ardt 3R 39 yuta o
St Sfi= ara ARl & o T B ATgieR! AR 81 59 A SIaw § Yl AiTe 99E SR e #it
Yt R & gt 81 A & URT 59 919 F1 ISR giar 8 f I & adiel & IR o 397 gag o
W | faeft Wt de IRPR | g ANRS o7 31 3141 & 3R 98 YRR & gRT 311 81 HRd U dlbdiiae®
TR YRA & A1 W HafeR & qreay A = ufaf =iy gd €1 39F 91¢ g g vl i v ReRr 3t
A T 1 TE IRPR ASTHRI BT ATET Tard! & MR 1w 3R A &7 T=iteq wedl € a1 78 fHaw a49rd 31
Apda &1 TP Jayd Risid 8 f 83 ver &t Iefae ufe &1 Hia uorn gidt 81 aiddad § @R w@Re a1
TR & AT F U 3T W I B 8 | TP st Aipdiis aReR 8§ gare § Iufeyd fafae gl
3R wal &1 3w e smar 81 59 et & fufor A &7 fef 3t smarer g Wt 81 3R gw
SR ) wirar @ T fonsdt oft Alepds o Ireifae e &1 dearT siftre @ it ATt & S8

1 B ArRiert A i wmfoe augl # coa & $8 31 A dag fad 31 3 Jue # Hier ok
Thifa 1A 7@ & R T 3t WIieR) SR 8 1 O 3 AIgieR) | 9geId] & MTdd & F91 o GHhdT g
TEHEP F AP A 7 Had TH SIS WE q918 81 oAl § dicep dgaeId uig +f aa18 giar 3| A &
3TaTS § APdiAe TRPR BT YR I &1 FIRRA Fhdd B ATHT BT IH1H ¥@ & ford I« #Y
TR =3 81 TS W THIG 3R TgHTAP & ATdh B A1 JT B ATHGRY BT FUHSRT HRT BRI
21 DT DI T BT SA&UUT TG TT P ATGRI BT Afad SR 31 IR F AR it; 9 fyenRye,
Wﬁwﬁmﬁ@awwﬁﬁmﬁm%lwm%ﬁﬁﬁaﬁéﬁﬁﬁﬁmwmm
[

ST TR B USHR 1 I T U= HT Ik qarsu |

UY: Aipdiich oqaedT § Uds TS Tqg B Hifier) &gl gl 82
1.IYH

2. AR Y

3. g7 §

4. fTaRT o



Correct Answer :-

. WHRH

28) I Pt ATier & Abda BT YaHA 3 | AP AH- A dbad § YHIAT 811 ardt 3R 39 yua o
Siiad oA ara @i & i T 9t e’ Afed 31 39 I srawit # yde e I9g iR Tqer $t
YTt PR # gt 81 A & URT 59 19 F7 SfUSR giar 8 fr I & adidl & IR o 397 gag o
S| fsdt oft 3y PR | g ATRS FT o giar @ 8k g8 Hrfiert & gRT a1 81 YRd U aiPpdiiad
I 31 YR & AT WY TafReR & arerd I ru=r ufaf=fy gad 81 9% a1¢ g7 ¢ ufaf Ay v e #t
A T 1 g IRPR ASTHRT BT ATH Tard! & MR 1w 3R A &1 T=iteq Hedl € a1 78 fHaw a9rd 31
Ahda &1 TP Jayd Risid 8 & 83 yeR & Iefae et o1 i uoin gidt 81 aiddd # @RT @RS a1
TRYT3MT & A1eaH A U 3T W AT R4 ¢ | TP S Apdife TReR o Jare o IufRyd fafaer qugt
3R wal @1 I W e smar 81 59 Hifeat & fufor d gv -l it smarwr g ot 81 3afr gw
=3 ) wirar @ 3 fonsdt oft Alepes o Tofae W= &1 dearT siftre @ it ARt & S g

T F et § A Imfire Tqgl # To1a & 9 B34 § Heg fadt 81 gaferd Ju § Hiers ik
Nifd IR ¥EH & ol T 3t ATieRT et g | I B AIgieR § IgNeIdl & ATdd o g9 off JHdl 3|
TEHEP & AP A 7 $Id CTHSIS WE q918 81 WA § qiep dgaeId uqg  Ta1% giar 3| A o
STATS § APAiAD TIBR BT YR T 81 FAA Abda B AT BT W IW1 & o 7« $t
TSR o= 8| TUTST & ThIg 3R TEHBIP F TP B AT Gl B JTSiGR] BT FUIEGRT HRT BRI
B ABa B TEHT DT U IGHT HAT DI AIGGRT BT AP HIRYI g1 M & faf v 3TT; S faurier,
;ﬁmﬁmsﬁ?mﬁﬁawmﬁamﬁm%lwmaﬁaﬁaﬁaﬁmmwmm
|

ITYe TRIR B UgH 19 IR T U= &7 I« 9a13¢|

UY: dibds & Fayd Rigid & SaR Ieiae fe 1 Eid fead Ffga g2
1. rguTferenT |

2. ST H

3. WHR Y

4. faeTRyeT o

Correct Answer :-

29) TT B! ATSER! § AP HT YAHT 8| APditd A § dipad A TUIRAT 811 ard iR 39 gy o
Sitaq o arat @ & f T 3t Irgierl At 31 39 I et ® v e 9iE iR e #t
Yrfier} TReR & gl 81 ANl & URT 59 91 o1 SAfUSR giaT 8 fob e & ahidl & IR & 399 Jarg o
S | et oft dy TR H g% ATRe o1 feva giar 8 o a8 urfierRt & gRT oTaT 31 URA U Aidpdii®
1 31 URA & A1 WY wafRieR & arera I = ufaf=ify gaa 81 9% a1¢ g7 ¢ ufaf Ay v e &t
T 81 98 THR ASHRT BT - Tard! @ R i 3R ST &1 W=ty sl 8 a1 72 g g9t 81
e BT TP qayd Risia & fp 8 UeR FI Iomfae fHRT o1 Hid Uol gt 81 A § 1 TR B
TR F AT | U 3T W AT HId 8 | TP st Apdiis ReR 8 gare § IufRyq fafaey augl
3R wal @1 I wwE R smar 81 5 Hifeat & fufor A gv el 3t smarer g ot @1 sl gw
TR B ot g T fadt oft eiterds ® Iremifae I &1 JearT Sifte J siftre Ariet & S gt

I B ARt A il wmfe augl § cwva & $1 w1 A ueg rad 31 suRr 3w # e ok
TNifa T T & R T B AISieR) o 8 | 91 B TSGR | TgNSId] & SHTHd § 997 o Ghal 2|
TEHCID & AP A 7 Had RSP TYF q91E 81 AT 3 dfewp dgaerd Iqg Y aarg giar g1 @ &
STATS § MBS TIBR BT YR T4 81 FAA Abda B AT BT W 391 & o 7«1 $t
TR W31 g | TS | THId 3R TgEIP & ATAD DI AT T Bl ATSIGRT BT TUIGRT UIT BRI



B P B SATET B 310U T T B AR BT Afdd SRUI B | A & fafta 3Fm; S faenRer,
;ﬁmﬁwaﬁ?wmmﬁmwmﬁﬁmﬁm%lwmaﬁﬁﬁaﬁaﬁmmwmm
[

ITYe TRIIRI Y UgH 19 IR T U= $T I« 9a13¢|
UY: 1 B AISIGR] 81 AIPdd PTHRIT g2

1. gY@
2. &Y

3. A

4. 3UYfH

Correct Answer :-

30) INT P! ATER! § Apad BT AWT 8| ADdiAD A= A Add S UG 811 ard 3R 3T yua &
Sitaq o9 arat @i & e T 3t IrgierR) AR 31 59 U et B v e 9YE SR e $t
Yrfier} TRER & gl 81 @l & URT 59 91 o7 SAfUSR 3T 8 fob e & ahel & IR & 399 Jarg o
S| et oft 3y TR H g% AR &1 fva giar 8 o a7 urfierRt & gRT ofaT 31 URA U Aidpdii®
TR YRA & A W AafUeR & Arend A A ufaf= iy gd €1 39F 91¢ g g ufaf iy v ReR 3t
T 81 98 THR ASHRT BT -1 Tard! 8 3R i 3R ST &1 W=iteq st 8 a1 72 g g9t 81
e BT TP Hayd Rigid 2 f g TR $I Iomfae i o1 Hid Iel gt 81 Al § 1 TR 31
TYT3Mf & A1eH |V U 3T W T R ¢ | TP 3 Apdie TReR o Jarel § IufRyd fafae qugt
3R wal ®1 I wwE R smar 81 5 et & fAufor d gv el it smarer g ol @1 39l uw
TR g ot g T faedt oft eiterds ® Iremifas = &1 JearT siftre J siftre Ariet & S gt

T B ARt A e wmafe Tugl § cova & $1 w1 A geg ad! 31 suRr 3w ® et ok
TNifa T I & R T B IIieR 93 @ | 991 B TSGR W TgNSId] & 3HHd | 997 o Ghdl 2|
TEHCIS & AP A 7 Had CRIBIP TYE d91E 81 AT 8 i dgaerd aqg H aare giar g1 @ &
STATS g APaiAD TIBR BT ATYR T4Td1 &1 FAFA Abda B AT BT W IW1 & o 7= 3t
TGN W31 g | TS & ThId 3R TgSIP & ATGD DI AT T Bl ATgIGRT BT TUIGRT UIT BRI
B ABa B THT DI U TG HAT DI AIGGRT BT ATP SR g | M & fIfHa 3inT; S faurieT,
;ﬁmﬁmsﬁ?mﬁaﬁawmﬁﬁmmilwmaﬁmﬁaﬁaﬁaﬁﬁmwmm
|

ST TR Y UG 1 ID T U= o1 Ik qa1su|
we: 4 ifaat & Fafor & feaet smars gt o 82
1. yufd ot

2. T IR Bl

3. Faffea gfafier ot

4. R ol DI

Correct Answer :-

. R Dt



Topic:- General English(L2GE)

1) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l
'm glad I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says
the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'l 'm all in a
flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

What happens when the counter utters ‘ten’?
1. The person is checking the dials

2. The person is checking the fuel

3. The person is checking the engine

4. The person is checking the panel

Correct Answer :-

® The person is checking the dials

2) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l
'm glad I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says
the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'l 'm all in a
flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

Where is the astronaut?

1. In space

2. Outside the launching pad
3. In the launching pad

4. In the space-ship

Correct Answer :-
® In the space-ship

3) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l
'm glad I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says



the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'l 'm all in a
flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

What happens at count-down nine?
1. Rocket is readied

2. Astronaut gets ready

3. The engine is switched on

4. The computer is accessed

Correct Answer :-
» The computer is accessed

4) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l
'm glad I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says
the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a
flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

When six is counted what does the astronaut in the rocket do?
1. Is asked to be calm

2. Becomes calm

3. Reminds himself to remain calm

4, Is unable to be calm

Correct Answer :-
e Is asked to be calm

5) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I
'm glad I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says
the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'l 'm all in a
flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

‘Where does the count-down begin?
1. Factory inauguration

2. Place takes off at the airport



3. Train flag off at the station

4. Rocket launching pad

Correct Answer :-

® Rocket launching pad

6) Read the poem carefully and answer the question given below:

The earth we live is a circle.

Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

Who is specified to know what a circle is?
1. Children

2. Bangles

3. Moon

4. Sun

Correct Answer :-

® Children

7) Read the poem carefully and answer the question given below:

The earth we live is a circle.
Hot hot sun is a circle.

The cool moon is a circle.
Delicious orange is a circle.

Bangles we wear too is a circle.



Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

The suitable title for the poem could be:

1. A circle
2. The moon
3. The sun
4. Bangles

Correct Answer :-

. A circle

8) Read the poem carefully and answer the question given below:

The earth we live is a circle.

Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

How many things mentioned by the author is in the shape of a circle?
1. Six
2. Seven

3. Four



4, Three

Correct Answer :-
e Six

9) Fill in the blank with the correct option from those given below:

The Dean his staff to spend a larger chunk of their time with the student community.
1. authorities

2. authorized

3. authority

4. authoritative

Correct Answer :-
e authorized

10) Fill in the blanks with the appropriate conjunction.
Hewas__ intelligent____ brave.

1. from, to

2. not only, but also

3. though, either

4. whether, or

Correct Answer :-
» not only, but also

11) Choose appropriate articles for the given sentence:

I first met Hina ___ year ago at _____ investiture ceremony.
1. an, no article required

2.a,an

3. no article required, a

4. no article required, the

Correct Answer :-



12) Choose the appropriate option that rewrites the given sentence in its passive voice.

Gautham Gambhir has announced his retirement from all formats of cricket.

1. His retirement had been announced by Gautham Gambhir from all formats of cricket.
2. His retirements from all formats of cricket have been announced by Gautham Gambhir.
3. His retirement from all formats of cricket has been announced by Gautham Gambhir.

4. Gautham Gambhir has been announced by his retirement from all forms of cricket.

Correct Answer :-

» His retirement from all formats of cricket has been announced by Gautham Gambhir.

13) Choose the appropriate tenses to fill in the blanks in the given sentence:

Sorry we late, we a wrong turn.

1. had been, were taking
2. are, took
3. were, were taken

4. are getting, had taken

Correct Answer :-
e are, took

14) Choose the appropriate antonym for the highlighted word in the given sentence.

She is secretive about how much money she earns.
1. callous

2. forthright

3. cautious

4. covert

Correct Answer :-

o forthright



15) Choose the appropriate pronouns in the given sentence:

__ gofor a regular health check-up at the clinic run by cousin.
1.1, my

2.1t its

3. She, her

4. He, his

Correct Answer :-

16) Choose the appropriate synonym for the highlighted word in the given sentence.

My mother would warn me not to fidget in my place while she combed the knots out of my hair.
1. tussles

2. curls

3. entanglements

4, ties

Correct Answer :-

e entanglements

17) Choose the appropriate prepositions for the given sentence:

He sent her a lovely bouquet roses, which she threw the floor.
1. in, against

2. on, for

3. of, on

4, of, at

Correct Answer :-

18) Choose an appropriate modal for the given sentence:



Tasneem swim like a fish.
1. must
2. shall
3. may

4. can

Correct Answer :-

19) Choose the option that best explains the highlighted expression:

He had flu a couple of months ago and he's been a bit off-colour ever since.
1. flushed

2. over cautious

3. hyper sensitive

4. not being his usual self

Correct Answer :-
* not being his usual self

20) Choose the option that best combines the given sentences.

The speaker had just finished his speech. The people started shouting slogans.
1. Hardly had the speaker finished his speech when the people started shouting slogans.
2. Hardly had the speaker finished his speech than the people started shouting slogans.
3. Hardly had the speaker finished his speech then the people started shouting slogans.

4. Hardly had the speaker finish his speech and the people started shouting slogans.

Correct Answer :-

» Hardly had the speaker finished his speech when the people started shouting slogans.

21) Choose the option that best transforms the sentence into Indirect form:

‘Ugh! There’s a fly in my soup. Waiter!’ he cried
1. Exclaiming with disgust that there has been a fly in soup and began to call the waiter.

2. He exclaimed with surprise that there was a fly in soup and called the waiter.



3. He exclaimed with disgust that there was a fly in his soup and called the waiter.

4. He exclaimed with horror that there is a fly in soup and called the waiter.

Correct Answer :-
* He exclaimed with disgust that there was a fly in his soup and called the waiter.

22) Choose the option that substitutes the given phrase appropriately.

Action of getting rid of something
1. Sale

2. Disposal

3. Dismissal

4, Relief

Correct Answer :-
» Disposal

23) Read the sentence carefully and choose the option that has an error in it:

I did not understand their predicament until John explained me all the details of the mishap.
1. until John explained me

2. all the details

3. I did not understand

4. of the mishap.

Correct Answer :-
» until John explained me

24) Read the sentence carefully and choose the option that has an error in it:

Anyone who wish to participate in the competition may do so by tomorrow.
1. in the competition

2. may do so by tomorrow.

3. Anyone who wish to participate

4. No error



Correct Answer :-
* Anyone who wish to participate

25) Change the given sentence to Indirect speech.

"I am reading a book,” he explained.

1. He explained he will be reading a book.

2. He explained that he was reading a book.

3. He explained that he has be reading a book.

4. He explained that I am reading a book.

Correct Answer :-

» He explained that he was reading a book.

26) Fill in the blank with the most appropriate preposition from the options given.

I need some help my homework.

1. over
2. below
3. with

4, above

Correct Answer :-
e with

27) Choose the most appropriate determiner in the given sentence.

Amazon is considered to be the largest river in the world.
1.A
2. This
3. The

4, An

Correct Answer :-



28) Fill in the blank with the correct option in the given sentence:

An apple that has ripened to a soft stage may be said to be —ripe.
1. un--

2. over--

3. under--

4. in--

Correct Answer :-

29) Fill in the blanks with the correct options in the given sentence:

Carbonat-- water gives soda pop its effer--.
1. --ing, --ion

2. --ion, --ings

3. --ed, --ence

4. --ive , --ance

Correct Answer :-

e --ed, --ence

30) Choose the right tag:

You attended the meeting, ?
1. did you

2. didn't you

3. have you

4. haven't you

Correct Answer :-

e didn't you



Topic:- Social Science (SSC)

1) Which organization has established the Financial Mechanism named 7he Green Climatic

Funda? | T T8 A 399 sagafes e A @ faxita yormel wifdd &1 82
1. WWF / s&cgdsocUh

2. UNEP / gUsU!

3. UNFCCC / AU

4. UNDP / QU-SIUl

Correct Answer :-

. UNFCCC / QUAUGY !

2) Which Greek ruler or ambassador became Vaisnavite and erected Garuda Pillar at Besnagar?

/ 5T TAT IS a1 ITeigd A AWl §HHR 99TR § T9S WY g9
1. Alexander / 3G ST

2. Selucus / @W
3. Heliodorus / BierAIGRY

4. Demetrius/ aﬂﬁm
Correct Answer :-

« Heliodorus / %l%nﬂsﬁw

3) The main objective of setting up a social science library is: / TTHTSIS ﬁ?ﬂq YEADTTT
RT3 $T H&I S22 gl

1. For recreation and enjoyment / ARG 3R 31 & fam

2. As place of preparation for competitive examinations s wfearh odtesff Bt U & R &
FUH

3. To enable the pupils, engage in self-study and for reference / faenffal o Ta-srerga § Tou
HAT 3R & F foTT Fem Fm

4. As a common place for independent study / TIcA &W%ﬁfﬂqw IHY oG FEUH

Correct Answer :-

« To enable the pupils, engage in self-study and for reference / faenfdat ! - srerg o e
BT 3R Y& b 1T T&m Fm



4) The evaluation which compares a person’s knowledge or skills to the knowledge and skills of
a particular group is known as: / 98 Jedid- ol frlt safes & 14 MR PR B} ga-1
ot faRiv Iy & 91 3R Pk | FRar @

1. Criterion-referenced evaluation / ATFGS-Ha 4 d HedTh

2. Formative evaluation / TATONE® / TS g™ih

3. Norm-referenced evaluation /31 ﬁé R EFQTG)T[

4. Summative evaluation / ANTTEA® / GhAATHD / Gﬁﬂw

Correct Answer :-

« Norm-referenced evaluation /3{f-c 121 W

5) Milindapanho text is in the form of a dialogue between the king
Menander and Which Buddhist monk? / fiftigu 1y e fiRvew ok fvg
¥ gl & it aratarg &1 qof= 32

1. Nagasena / TRTA
2. Nagabhatta / ATTHS

3. Nagarjuna / TRTIo[H
4. Kumarilabhatta /Wﬂ-@

Correct Answer :-

. Nagasena /A

6) A Commission to review the working of the Constitution was appointed by Government
of India under the Chairmanship of ./ HRd IRXPR gIRI Cd| S &1 |
AfauT & o1 ot THlen & fore v T frge fasar war A

1. Justice Sabyasachi Mukherji / IITCITI;% LI H”@Gﬁ
2. Justice Ranganath Misra / IITCITLﬁ RUCIAEE]

3. Justice J. S. Venna/:qmqﬁ@f.w. i

4. Justice Venkatachaliah / Ile{ﬁ Jareaad

Correct Answer :-

. Justice Venkatachaliah / <[ ddheaern

7) Topics of study suitable for the age, ability and interest of children are included in the
curriculum are known as .| S=I B 31y, &HdT 3R o & forw SUYdd Aggd &
fawat 3t urewsw A wfde fParsrar g, o seTSITar gl



1. Topical approach / e =@

2. Unit approach / SHIS VDI

3. Spiral approach / LIS EEREAL

4. Chronological approach / WW DI

Correct Answer :-

« Topical approach / GTHR—ISH PP

8) Black money is also known as ./ PTd 4 DI & =q ¥ o} =1 STar

g
1. Dynamic economy / urafies srfegawi
2. Moderate economy / H&HH 3 Jogawyt

3. Parallel economy / THFIAR 3rfcqa=t
4. Stagnant economy / fRIR ey

Correct Answer :-

« Parallel economy / JHMIR 3f dresrspadl]

9) “Nature provides opportunities and human being make use of these” is central theme of
which of the following geographical philosophy. / "Wﬁ SAIR UG Bl % 3R AT
D1 IUURT HYal 8" Ay § 9 fp vimifere axfa=na &1 Hda faua g1

1. Possibilism / §HIdTG

2. Marxism / ATGRIATG

3. Feminism / TRI4IG

4. Determinism / fAafdarg

Correct Answer :-

« Possibilism / GHIdIG

10) In which case the Court ruled that nobody, not even the Parliament (through
amendment) can violate the basic structure of the Constitution? / &9 ava A IraEa 3
Paar fear i #13 ff, i 9o fo Tag (@MY= & urew /) |fau™ & gd o &1
ST Tl B ADHT o2

1. Minerva Mills vs. Union of India / ool ey 999 YRa 99
2. Mukti Morcha vs. Union of India / Hﬁf Tl S YRd ¥4



3. S. R. Bommai vs. Union of India / TH. 3{IR. Gﬁm‘s‘ I YRd 99

4. Kesavananda Bharati case / ab-‘lIOIHci YR UBRUl

Correct Answer :-

o Kesavananda Bharati case / HRAMG HRA Bl

11) Who established the Indian Statistical Institute? / YR HifkST® I B TITYAT
o @

1. Jawahar Lal Nehru / STaTER AT S8

2. V.K.R. V. Rao /4. &. 3R, d1. 714
3. R. C. Desai / 3IX. T, ai:ll'sc
4. P. C. Mahalanobis / o}, 9. mﬁg

Correct Answer :-

o P. C. Mahalanobis / o}, 9. q@mﬁg

12) Who can increase the number of judges if deemed necessary? / gfe smaza® HHLT SITY
o =arardien @ 1 P 9¢1 HhdT 872

1. President / ?quﬁf
2. Chief Justice / T =TT

3. Parliament / 999G
4. Cabinet / AfHsd

Correct Answer :-

« Parliament / 99

13) Who is the exponent of Play-way method? / -4 fafyr & ufoures #19 %.?
1. Maria Montessori / ATIRIT AT¢T_Y
2. Friedrich Froebel / ;bSi\QOb Lb\laﬂ

3. D.W. Allen / 31, S&g, YA
4, Jean Piaget / S foarst

Correct Answer :-

o Friedrich Froebel / ;bSi\QCb Lb\laﬂ



14) Who can create Vidhan Parishad in a State? / ITod T fau= 'Q'R'El'c{ &1 fAmfor Gﬁ:[ DhY
Thdl 82

1. Chief Minister / 'E[@'ﬁﬁﬁ

2. Governor / YUl
3. Cabinet / ARHSd
4. Parliament / I99¢

Correct Answer :-

« Parliament / 93¢

15) India Gate was built as a memorial to the soldiers of . /s"%m e $I
¥ Ife! B Wfa ¥ e TR & =9 § F9131 7497 T

1. World War I /CIB?[ ﬁw

2. Indo-Pak War 1965 / HRd-Uld Y& 1965
3. Bangladesh War /EI'FT'I'I%S{[ &

4. World War 11 / G&R fa=ags

Correct Answer :-

« World War I /U84 favags

16) has the sole right to mint coins. / & U o 113% DI THHA
IfRFR B

1. State Bank of India / HRA W dh

2. The Reserve Bank of India / YR ord a6
3. The Commerce Ministry / 1oy HATe

4. The Government of India / HRd UXh R

Correct Answer :-

o The Government of India / HRd YIh R

17) is a community-based poverty reduction programme being implemented in

Kerala for the emancipation of women. / , RAH 'FI'%FITGP[ G| Hﬁ[ & ﬁl’E U
TYEr-MYTRd TR e sriwd 3|

1. Kudumbashree / W%ﬂ



2. Kudumbayogam / Wm
3. Kudumbasametham / Wﬂfm—q

4. Kudumbavilakku / W

Correct Answer :-

+ Kudumbashree / W%ﬁ

18) evaluation is school based and aims at all round development of the student. /

YT+ ¥ d UG § 3R B & gafifivr ey #1387 81
1. Intermittent / 3{TcRTRID
2. Continuous and Comprehensive / ddd 3R TI®
3. Periodic / I

4. Phase-wise / dRU[-dR

Correct Answer :-

« Continuous and Comprehensive / ddd 3R TI®

19) The members of the Rajya Sabha are elected for a term of ./ IS YT &

e Pl & SRIDIA & oI A1 S g
1.6 Years / 6 T4
2.2 Years / 2 T8
3.4 Years / 4 9

4.5 Years/55|'5f

Correct Answer :-

. 6Years/65|'5f

20) The Directive Principles of State Policy have been adopted from Constitution. /

Tl s Hfafdsaaaisl & dfaus @ sroamn mn gl
1. Netherlands / laRcis

2. Swedish / WIS

3. Irish / SRR

4. Canadian / ST

Correct Answer :-



o Irish/ IR

21) The Pioneer of activity-based learning is J Tfafafe-smenfea iR &
YT AU g

1. John Dewey / i Stdl

2. David Horsburgh / sfag E’W
3. Robert Slavin / [aC ¥QTA-

4, Adam Wesley / TSH GESy]

Correct Answer :-

« David Horsburgh / sfag Eﬁﬁ@"’f

22) The emission of gas as a result of the greenhouse gas effect from various
agricultural activities causes negative impact to the society. / fafir Q"Tf& nfafaferay |
HHETSH 19 & UHTd & uRUTHER=Y 9 BT IS qTATaRT TR
TPRISS YU STl 3 |

1. Chlorofluorocarbons / OK’I\I Q\I UrQ'I\I Q\I D] ®|r -

2. Helium / iferag

3. Nitrous oxide / TSCY JHFATSS

4. Ammonia / =T

Correct Answer :-

. Nitrous oxide / TSCY RS

23) The technique for generating creative ideas and solutions through intensive and
freewheeling group discussion is knownas  ./7gq 3T WG H’{Eﬁﬁl‘fa? ey |
TS FaRT 3R THIYH ST 3 B APNP Y b U =1 a1 8|

1. Panel discussion / PERECE]
2. Brainstorming / § N

3. Dialogue / HdTg

4. Debates / dTe-faare

Correct Answer :-

 Brainstorming / § Saitadn



24) The Integrated Rural Development Programme (IRDP) was introduced in

/ TBIPpd UTHIvT fa T HriH (IRDP) H 3wy frar mar uti

1. 1971
2.1973
3. 1966

4. 1978

Correct Answer :-

» 1978

25) Which of the statement regarding Barbara caves are true? / dIR&RT W\?ﬁ' & Hay o

frafafead # & #1991 sy 98t 82
i. These caves are the oldest surviving caves./ g TFI'E LCE HTIT'P[ Shfad 'IICFI'\E'r gl

ii. They were built during the reign of Ashoka. / SIPI fator s & IRIAeTa A gl
YT

iii. They were dedicated to Ajivikas. / 9 3feiifaesT &1 JAfdd 1
1. All are correct. / GHT Tg % |

2. Only ii / P ii

3. Only I/ hdd i

4. Only iii / Pad iii

Correct Answer :-

« All are correct. / 4T ﬂ_saf %I

26) Which of the following has highest Albedo? / fFafiRad # T fra®T Twls!
(IBTRITFUT) T 3 ghar 82

1. Fresh Snow / aren fg|
2. Sand/i_cf

3. Forest / d-

4. Dry Soil / g@! gl

Correct Answer :-

e Fresh Snow / FﬂTrﬁ%Tr



Which of the following was the main objective of first five year plan of India? / fafafea o

" B YR Dt YT Uaqula TIe=-T ST 487 3= 412
1. Service sector growth / ar &= faer

2. Industrial growth / Gﬁ?ﬂm famrg

3. Agricultural growth / w famr

4. Growth in manufacturing / fafmtor & fawr

Correct Answer :-

. Agricultural growth / ST fab Ty

28) Which commission identified 3943 castes as Other Backward Classes and recommended
27% reservation in government and semi government jobs and admission to educational

institutions? / fopT TANT A 3 FUTST T & = A 3943 WIfrA) Ht Uga= &1 3R
:ﬁwﬁ@aﬁwﬁﬁﬂaﬁ?ﬁ&mmﬁmﬁzm 3R&UT B} Rywrfyer

1. Kalelkar Commission / HIAADB TN

2. Mandal Commission / Hed 3TN

3. Ramanand Prasad Commission / IHHG U9TG SITART

4. National Backward Classes Commission / TI@H ﬁ@?ﬂ T STIAT

Correct Answer :-

« Mandal Commission /ﬁ?{a 3TN

29) Which Amendment introduced the word ‘Socialist’ in the Preamble to qualify our

‘Republic’. / 5T TN A FHR UG BT Edl UTWd B & forg, y=ama-m o
HHTSIATG " RTeg; 1 TS fohaT 1T AT

1. 42nd
2. 460
3. 48t
4. 44th

Correct Answer :-

. 42nd



Social Science exhibitions, fairs and cultural shows are meant to ./ grHTfoTe ﬁ?ﬂq

wex, Al 3R Hipfasd BrdeH 1 B gl

1. provide a creative channel for learners / @T&‘I’I’W & ﬁfq U JoldIHD :»H <] UGTH BRI

2. show the talents of social science teachers / JTHTSTH Iraill"l ﬁT&‘lﬁ CARIGEY ﬁ_@:ﬂ

3. increase the reputation of the school / ¥ ¢l AR IRIICHE]]

4, invite and entertain the parents / AT &Y THET 3R ST ARSI BT

Correct Answer :-

« provide a creative channel for learners / ﬁf&lTﬁ'q}f & 1%111 Uh e olqIHD éH o UGl DRI

31) To know the opinions of learner’s on the ‘Right to Education’, the teacher uses which of

following processes? / Rreqr o1 SiftrpR fawg w ﬁT&ﬂm P I A & "%I'Q', Rree
Frafafaa & @ fea uftear &1 I wwar 32

1. Shows a video clipping / Teb 1SN faaftiT fearar g |
2. Gives a project / ISR (Cﬁ@i?ﬁ) é‘cﬂ%l

3. Conducts a discussion / T STAIOTd HRAT & |

4. Provides a problem / T JHTIT T B

Correct Answer :-

» Conducts a discussion / Eﬁﬁ ARSI Bl %l

32) The term “Civics’ in Social Science text changed to ‘Social and Political’ with the

recommendation of: /mﬁaﬁmﬁﬁm% Glﬂﬁ?-l'w NS AR Waﬁ'
ATHTRS 3R Aeiae d ded foar - -

1. Secondary Education Commission / et FRIem ST
2. NCF 2005 / TTEITWH 2005

3. Justice Verma Committee / <1 aﬂf gfafa

4. NPE 1986/ qué 1986
Correct Answer :-

« NCF 2005 / TIT®H 2005

33) “The central function of Social Science is identical with the central purpose of education i.e., the
development of democratic citizenship”, was stated by: /

g fagm &1 Fdia w1 Rren & Fdta ez & 99 B, 3rdfa, dwaite
AT &1 fasrar, a8 4 gRT w81 14T UT-



1. James High/@ﬂ:\q Eﬁ'
2.JF. Forester/a.w. IR

3. John V. Michaelis / ST 91, ATSh o1

4, Edgar B. Wesley / USTIR CIRGRN|

Correct Answer :-

« John V. Michaelis / STi=T o, W‘%’Iﬂ

34) In Vedic Era, Akhyani was the goddess of which of the following? / 3% g A «3rgguf}»

frafafea 9 9 feast &t 4
1. Forests / d-

2. Rivers / Afeal

3. Fire / 30

4. Peace / XMifdl

Correct Answer :-

o Forests/d-d

35) The scaled-down teaching encounter in class-size and class-time is known as ./
P& P ATPR 3R BT S G949 A e & s fre s H31, & T H ST
STdT 8

1. programmed instruction /A e
2. micro teaching/G&H TRI&TT

3. simulation /R (3HR)
4. team teaching / €1 TRI&0T

Correct Answer :-

« micro teaching/&H fRreror

36) Which of the following cities was the capital of India from 1772 to 1912? /
fFrafafaa & 3 o9 a1 ER avf 1772 9 1912 9% URd IS 412

1. Daulatabad / GlddIaTG
2. Delhi / feeeht
3. Bombay / S



4. Calcutta / ddhdl

Correct Answer :-

o Calcutta / ddADTI

37) Ahmad Shah Abdali invaded India for the first time during the reign of which among
the following Mughal Emperors? / fFafafaa g gurel & § fus mma-iora o srgde M8
JfGTelt A YRT UR Ugd 1R AThHUT far 42

1. Ahmad Shah / 3gHqg R0l

2. Muhammad Shah / HeHq RTe
3. Shah Alam-11 / RITg ATTH-II

4. Akbar-11 / hdR-I1

Correct Answer :-

« Shah Alam-I1/ RTe HTTH-11

38) CCE stands for: / ?ﬂ?ﬁi BT Hddd %:

1. Continuous and Cumulative Evaluation / Tdd 3R Tadt i (Ob\ll*dnlfq\QH us orq\afféq

2. Continuous and Cumulative Examination / Tad MR a4t udter (Ob\IJ*CnIﬂ\q{-I Us Olﬁlj-cl\ai?d

LERIEERE)

3. Continuous and Comprehensive Evaluation / Fdd ddT Jfdax 0l gih (Q?T'Cnlﬁl\q{-l us
BRI 3aeg)

4. Continuous and Comprehensive Examination / ¥dd T GidaR0l TRI& (i< =gy TS
CIE I R CRCSIEEEE)

Correct Answer :-

» Continuous and Comprehensive Evaluation / Fdd ddT Jfdaxl qAich (ObI*CHZLHH us

39) The exponent of theory of multiple intelligences is: /EIE-WI%T‘I-IT Rrgr & ufaurcs
a8

1. I.P. Guilford / 3. O, fTeTprs

2. L.L. Thurston /Ud. Td. YT

3. Howard Gardner / E'\Ijaé Tﬂé:lT

4. Robert J Sternberg / AT o T



Correct Answer :-

o Howard Gardner / ‘s’Tats‘ 1 IIé:l Y

40) Branched programming is also known as: / §i<8 YN & A 918 ¥ +ff w41 SIram 21
1. Intrinsic Programming / 3fiaRes Ui

2. Extrinsic Programming / ST&J PPl

3. Straight line Programming/ et @ o

4, Skinnerian Programming / fepia= grnfi

Correct Answer :-

« Intrinsic Programming / 3T gramfET

41) The World Trade Organisation was established in the year . | fay =R "@wreA
Pt RITYT T T g% 4

1. 1995
2. 1991
3. 1994

4. 1989

Correct Answer :-

e 1995

42) Which of the following is not a characteristic of Palaeolithic Age? | Fafafaa |
| HI-I} RIUT0T 1 o1 T fa=iwar 781 872

1. The Paleolithic also used microlithic stone tools. / YRTUTHTUT ﬁ&IITQTﬂ'q TR & MRl &1 off
ESSEIREERGRT

2. During the Paleolithic age hominids grouped together in small societies such as bands./

RTATHIO HTA & GRM SISy 88 oI BIC JHTSl § U 91 THgax U

3. The Paleolithic is characterized by the use of knapped stone tools, although at the time
humans also used wood and bone tools. /Wﬁ:ﬁwt@?% SIIOTRI & JUINT
Y U ST &, BTatifor 39 YHT HFd ddha! 3R 881 & SHISRY BT 1t STt v |

4, They subsisted by gathering plants and fishing, hunting or scavenging wild animals./ G|
Tl BT ZHGT Hh 3R AS T UHSHR, RABGR HIP AT WL §T SITCH STFER] b JIHR Sifad
Ed 3

Correct Answer :-




« The Paleolithic also used microlithic stone tools. / GTUTHIUT ﬁ&ﬂ'l’-‘ﬂﬂ'q TR & SRi &1 off
EISLINERS R

43) Who fought Mohammad Ghori at Battle of Tarrain in 1191 and 1192 ? / 1191 3% 1192 #

WIS & g5 | AlgWIG TMRT BT bTaar fba fosar 2
1. Lakshmana Sena / T&H0T I

2. None ofthem/_sl:lﬁ@faaé:lﬁ

3. Jaichand / SIOd—<

4. Prithvi Raj Chauhan / G2dT IS g

Correct Answer :-
« Prithvi Raj Chauhan / G280 ST g
44) CANCELLED

When farmers sell a portion of their agricultural goods in the market, it is called ./

oiq fPaH, IR # 3ot Y axg el &1 te R sud 8 39 Ca RS IGIE

1. Marketed surplus / fauford sifaRy (H1dh s TRw)

2. Marketed output / faufora Iareq
3. Surplus goods / TRV AT
4. Total output / PcT IdTGd

Correct Answer :-

« Marketed surplus /ﬁ'q-ﬁlﬁ 3Ry (ngr; G SRUNES)!

45) Literacy refers to: / HI&Rdl &1 arad ]
1. Reading only /had uaﬁ

2. Speaking only/ $Had aiaq

3. Writing only/ PHad feraq

4. All of the above / TR i

Correct Answer :-

« All of the above / SIRIad g4t



During the reign of which ruler of Bahmani kingdom was the capital shifted
to Bidar from Gulbarga? / SgH- HTYTSd & fFd AMH® & WMHARTA & SR
IS AT SieR RIFaRT o3 ¢ Tt 62

1. Ahmad shah / 3gHq QT
2. None /sﬂﬁ@rﬁéﬂﬁr

3. Aluddin shah / 31€"||3§‘|'_‘| QUTe
4. Vira shah / ﬁQTQITg

Correct Answer :-

« Ahmad shah / 3{gHq R0Tg

47) Which ruler of the Vijayanagar empire wrote a famous book 'Amukta

Malaya'? / faOoa TR IR0 & {69 IRT9 A T WIS @ 'sigdar waa ferdt @2
1. Harihara / Eﬁ_e"\"

2. Dev Raya I1/ G XA 11

3. Dev Raya I/ Cd T I

4. Krishna Deva Raya / $WI¢d I

Correct Answer :-

« Krishna Deva Raya / $W[¢d I

48) was the committee constituted on ‘Revitalisation of Panchayati Raj

institutions for Democracy and Development’. / Ahad iR AP & ﬁﬂ! UEILGIRIE]
TRIT3M & TRIGR’ TR afafa &1 Te+ foam T AT

1. Ashok Mehta / 3NH ﬂEﬂT

2.G V K Rao / Sfl dt & 7@

3. L M Singhvi /W@W

4. Balwant Rai Mehta / dddd I f[ET‘IT

Correct Answer :-

. L M Singhvi / Td TH Rigat

49) Which ruler defeated Harshavardhana? / {6 & 3 gdatq & gv1m?

1. Vasudeva of Chahamana Dynasty / TTIE':I'-I (TATGHH ) 9T & fﬂﬁéﬂ



2. Nagabhatta I of Gurjara Pratihara Dynasty / l.lﬁk UfdgR a1 & ANTHS UIH

3. Pulakeshin II of Chalukya Dynasty / AT 9 & ﬂ(_“lw EGIR
4. Shashanka of Gauda dynasty / Tﬁ‘s’ I & AR

Correct Answer :-

« Pulakeshin II of Chalukya Dynasty / IR dI & gﬂw fgara
50) Arrange the following events in the order of their chronology:
1. August Offer

2. Poona Pact

3. Third Round Table Conference

4. Khilafat Movement /

Fraffea gemsil @1 7 Hrowpa & Ha | Fafeud o3

1. ST UKdTd

2. O ST

3. FHRT Meds g e

4. f@aTwa sride

1. 1-2-3-4

2.4-3-2-1

3.2-3-1-4

4, 4-2-3-1

Correct Answer :-

. 4-2-3-1

51) During the integration and merger of states after India’s independence, the Government
of India rejected the farman of which State’s ruler? / HRd P Tl & T1G IS4l B
THIHVT IR faead & IR, YR WER A {5 T & A0S & BIAHE I SRATBR
o< fear?

1. Raja of Kashmir / HIHR & ol

2. Ruler of Travancore / JTAUIBGR & YD

3. Ruler of Junagarh / SFTTG & D
4. Nizam of Hyderabad / %GQIQIG & e



Correct Answer :-

« Nizam of Hyderabad / 8S181g & ST

52) On which of the following proposals Mahatma Gandhi remarked “A Post-dated cheque

on a crumbling bank”?/mwmﬁﬁaﬁﬁmmwﬁmﬁﬁ%"wmﬁ
RGP 9% 4T, oRIST 9% 79 811 arar 11?2

1. August Offer / STRd UIdId
2. Communal Award / TGRS JREHR

3. Government of India Act 1935 / HRd IRBR AAIH 1935
4. Cripps Mission / foh e flrR

Correct Answer :-

« Cripps Mission / o firmm

53) Tibetan Plateau can be best placed in which among the following categories of Plateaus?

/ fosadt UoR &1 yoR 9 fAafefad 4Oor § g R U= a1 &1 Jhd1 82
1. Intermontane Plateau / 3idRTIddld TR
2. Dissected Plateau ; fa=sfed usR

3. Volcanic Plateau / \Sdlﬂl*j,{qnlq USSR

4. Continental Plateau / ﬂ%ﬁﬁtﬂﬂ UoR

Correct Answer :-

. Intermontane Plateau / 3/dRTId AT TSR

54) Stream flowing in the direction opposite to the original consequent slope is known as. /

TRIY® Sradl o & faudia fexm & yarfea urt ) e & =0 & 91 Siran 2|
1. Obsequent/?l?qﬂaﬁ
2. Resequent / :WI_jT:I_cﬁ

3. Sunsequent / &raaeff
4. Insequent / 3pHad!

Correct Answer :-

+ Obsequent / Q@Iﬂﬂ_vﬁ



55) What percentage of the world's volcanic activity occurs within the oceans? / fay ot

AT Tfafafy &1 feamr ufawra ggrarRy & HiaR gidar g?

1. 40%
2. 50%
3. 70%

4. 90%

Correct Answer :-

e 90%

56) Which of the following is the largest mangrove forest in the world? /Fafafead s

o Ay d ged ST AT I 92

1. Greater Antilles Mangroves, Cuba / Yex Ueiferdt ﬁ'“;ha, T

2. Sumatra Mangrove forest, Indonesia / FHTAT DI d-, E@ﬁﬁm’[
3. Bahia Mangroves, Brazil / ClRRI ﬁfﬂa’, EISIGS|

4. Sundarbans Mangrove forest, India / J&xa EDIC d-, HRd

Correct Answer :-

« Sundarbans Mangrove forest, India / gaxa DI d-, HRd

57) The Gandhi Sagar Dam is built on which river in Madhya Pradesh? / Tieh anR iy

el U # ford 1l R SR T B2
1. Narmada / THGT

2. Tapti / TG

3. Son / T

4. Chambal / EEL|

Correct Answer :-

« Chambal / ddd

58) Guantanamo Bay is located in which country? / LCIGIRIE] E’I@ﬁ fPacwdfRm %?

1. Cuba / HdI
2. Haiti / &l

3. Bahamas / dalHTH



4. USA / 31T

Correct Answer :-

o Cuba / HdI

59) The Dehang-Debang Biosphere Reserve is located in which among the following states? /
frafafaa & 3 fora =g d Sgin-gaiT Savisd fierd fRa g2
1. Arunachal Pradesh / 31U UG

2. Manipur / AT0TQR

3. Assam / 3{HH
4. Sikkim / Rifdpa

Correct Answer :-

« Arunachal Pradesh / A>UIH EI%'EZT

60) Solar Valley, world’s largest solar water heater manufacturer is located in which of the

following countries? / ﬁl"}lﬁ‘l@ﬁ o9 fea a"\’T AR 't'-l'l_cﬁ, ﬁ%’ BT I qgT AR &
arue fmfar R 82

1. Japan / SITUTq

2. China / CiC]

3. Australia / 3{\@%@'{
4. Germany / Glﬁzﬁ

Correct Answer :-

o China / EiC]



